XYZ,,=97.93 ,100.0, 118.95 Yan=[Y-50]/50
A=256,-3,) Y 69
B, = 2,58, (b, b)Y
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6 OstwaldFarben (o)
von maximalem (m)C,,
linearen Farbenraum (CAE 2Y) 158
Lichtart Q00, Y,,=10Q Y, =10 = - g
Name Beren X, Y. 7, % A A -

R, 567_775 64.71 4500 12.05 0531 '0.37° 596 487
¥} 492775 7997 94.93 18.29 0.4139 04913570 462
G, 492567 25.14 50.93 18.25 0.2433 058 535 585¢

C, 380_567 4311 65.01 118.92 0.1898 0.2863 487 536 Parameter:
B, 380_492 27.85 15.17 1126801789 0.0974 462 570 Y & Name
M, 567_492 62,68 5017 112.720.3366 0.2042 5350535 ;
567
W) 380_775 97.93 1000 116.950.309 03155 100% Lichtart Q00
N, 380_7759.79 100 1189 0309 03155 10% Y,=10Q Y, =10

7,380 7751762 180 2141 0.309 03155 18%
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